
Agrometer a/s Fælledvej 10 • 7200 Grindsted • Tlf. 76 72 13 00 • Fax 76 72 13 98
www.agrometer.dk • agrometer@agrometer.dk

Reservedelstegning ansugningstragt:

Pos. Varebetegnelse Varenr.

1 Holder - klap 23578010

2 Gummiklap 23578020

3 Møtrik (8) 23578030

4 Bolt m8x25 (2) 132608025

5 Bolt m8x25 (6) 132608025

6 Holderring - klap 23578060

7 Bolt m10x40 132610040

8 Møtrik 10mm. 132602110

9 Bolt m10x50 (12) 132610050

10 Møtrik 10mm. (12) 132602110

11 O-ring 23577460

12 Blændkobling 23578120

13 Flangepakn. 350x440 23578130

14 O-ring 50x46 23578140

15 Sugehus med bæger 23578150

16 O-ring D=150 23578160

Reservedele Doda




